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Maximum Marks: 80

General Instructions:

       ( i  ) All questions are compulsory.

       ( ii ) The question paper consists of 30 questions divided  into four sections –  A, B, C  and  D. SectionA  

                contains  10  questions of  1  mark  each, Section  B  is of  5   questions of  2 marks  each, Section  

                C  is of 10 questions of 3 marks each  and  section  D is  of  5 questionsof 6 marks each. 

 ( iii )  There  is  no  overall choice. However, an internal choice  has been provided in  one  question of  

           two marks each, three questions  of three marks each  and two questions of six marks each.

      ( iv )  In  question   on  construction,  the  drawing  should be  neat and  exactly as per the given 

                measurements

       ( v )  Use of calculator is not permitted.  .

Section – A
Q.No 1 Use Euclid’s division algorithm to find H.C.F of 196 and 38220.
Q.No 2 Find a quadratic polynomial whose sum and product of zeros are √ 2, 1/3. 
Q.No 3 For what value of p does the pair of equations has unique solution.:
4x + py = 8;  2x + 2y = 2
Q.No 4 Find the point on the X – axis which is equidistant from ( 2, -5 ) and ( -2, 9 ).
Q.No 5 A vertical pole of length 6m casts a shadow 4m long on the ground and at the same time a tower 
casts a shadow 28m long. Find the height of the tower.
Q.No 6 Evaluate : Sin 300 + tan 450 – cosec 600
    Sec 300 + cos 600 + cos 450
Q.No 7 Find the area of quadrant of a circle whose circumference is 22 cm.
Q.No 8 The radii of two circles are 19 cm and 9 cm. Find the radius of the circle which has circumference equal 
to the sum of the circumference of the two circles.
Q.No 9 
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DEF and their areas be 64 cm2 and 121 cm2 respectively. If EF = 15.4 cm find BC.
Q.No 10 Find  the are formed by triangle P( -1.5, 3 ), Q( 6,-2 ) and R(-3,4).
SECTION - B
Q.No 11 Find two numbers whose sum is 27  and product is 182.

Q.No 12 If tan 2A = cot ( A – 180 ), where 2A is an acute angle, find the value of A.

Q.No 13 If the points A ( 6,1 ), B( 8,2 ), C( 9,4 ) and D( p,3 ) are the vertices of parallelogram, find the value of p.
Q.No 14 Prove that the length of tangents drawn from an external point to a circle are equal.

Q.No 15 A bag contains 5 red balls and some blue ball. If the probability of drawing a blue ball is double that 

of red ball, determine the number of blue ball.

SECTION - C
Q.No 16 Prove that 2 - √ 5 is an irrational number.
Q.No 17 A motor boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km upstream than to return 
                  
down stream to the same spot. Find the speed of the stream.

Q.No 18 Draw the graphs of the equations x – y + 1 = 0 and 3x + 2y - 12 = 0. Determine the co-ordinates 
of the vertices of the triangle formed by these lines on X – axis and shade the triangular region.
Q.No 19 Which term of the A.P 3,15,27,39…………. Will be 132 more than its 54th term.
Q.No 20 Prove:         Cos A        +   1 + Sin A     = 2 Sec A

     1 + Sin A              Cos A  
Q.No 21 Find the co-ordinates of the points which divide the  line  segments joining the points A( -2, 2 ) and
B( 2, 8 ) into four equal parts.
Q.No 22 Draw a triangle ABC with side BC = 7 cm 
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B = 450, 
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A = 1050, then construct a triangle whose sides 

are 4/3 times the corresponding side of 
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      Q.No 23     BL and CM are medians of 
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ABC right angled at A. Prove that 4 ( BL2 + CM2 ) = 5 BC2.

Q.No 24
Find the area of a triangle formed by joining the mid-points of the sides of the triangle whose vertices 
are ( 0, -1 ), ( 2, 1 ) and C ( 0, 3 ). Find the ratio of this area to the area of the given triangle.

Q.No 25     Find the area of shaded region where a circular are of radius 6 cm 

                   and has been drawn with vertex of an equilateral triangle OAB

                  of side 12 cm as centre.
SECTION - D
Q.No 26
A boat goes 30 km upstream and 44 km downstream in 10 hours. In 13 hours, it can go 40 km

upstream and 55 km downstream, determine the speed of the stream and that of the boat in still water.

Q.No 27
The angle of depression of the top and bottom of a 8 m tall building from the top of a multi-storeyed

building is 30 and 45. Find the height of the multi-storeyed building and distance between the two buildings.

Q.No 28
Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct points

the other two sides are divided in the same ratio.

Using the above theorem, Prove that if a line drawn parallel to non – parallel sides of trapezium

then it divides non-parallel in equal ratio. 
Q.No 29
Water in a canal, 6m wide and 1.5 m deep is flowing with a speed of 10 km/h. How much area will it irrigated 

In 30 minute. If 8 cm of standing water is needed ?
Q.No 30 
The following table shows the age of the patients admitted in a hospital during a year. 
	Age ( in years )
	5 – 15
	15 – 25
	25 – 35
	35 – 45
	45 – 55
	55 - 65

	No. of  patient
	6
	11
	21
	23
	14
	4


Find mode and mean ( by steps deviation method ) of the data given above. Compare and interpret
the two measures of Central tendency.
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